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SECTION A (443/1 AGRICULYURE  PAPER 1) 

{QUESTIONS 1-255} 
1) State the three forms in which horticulture is practiced in Kenya    (11/2 marks) 

2) Identify two ways in which agriculture support agro based industries    (1 mark) 

3) List down three biotic factors that influence agriculture negatively    (11/2marks) 

4) Name any three crops that can be propagated by use of suckers    (11/2marks) 

5) Outline four  roles of trees in soil conservation       (2 marks) 

6) Identify two examples of intensive farming systems practiced in crop production  (1 mark) 

7) Outline fourways in which living organisms contribute to soil formation   (2 marks) 

8) Give four  reasons that may necessitate sub soiling to be carried out on a piece of land (2 marks) 

9) Name any four  physical methods of water treatment      (2 marks) 

10) Give three reasons why green manure is not commonly used     (11/2marks) 

11) Name two types of labour records that can be kept by a large scale plantation farmer. (1 mark) 

12) Outline four  areas that should be avoided when collecting a soil sample for testing  (2 marks) 

13) Differentiate between a seed bed and a seedling bed      (1 mark) 

14) Name three field practices that are used  to support weak stemmed crops   (11/2marks) 

15) Give four  reasons that would make a farmer chose a jembe during land preparation over a disc 

plough            (2 marks) 

16) Give a reason why use of organic manure is discouraged in carrot production   (1 mark) 

17) Outline four  advantages of zero grazing as a system of grazing     (2marks) 

18) Identify four  sources of credit facilities where one can get capital to carry out crop production  

(2 marks) 

19) Name any three fertilizer elements        (11/2 marks) 

20) The following are photographs of weeds obtained from the farm 
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A   B   

C   D  

i) Identify the weeds          (2 marks) 

ii)  State one major disadvantage of weed labeled A    (1 mark) 

iii)  Give two reasons why weed C is difficult to control.     (1 mark) 

iv) State one economic importance of the weed labeled (B) to human beings  (1 mark) 

21) The table below shows weekly demand for rice in am market 

Price (ksh)    Quantity demanded (kgs) 

10     250 

9     350 

8     550 

7     600 

6     700 

5     1000 

4     1500 

a) Calculate the elasticity of demand (Ed) for rice when the price falls from Kshs. 10 to Kshs. 9 per 

Kg. (show your working)         (3 marks) 
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b) Other than price state any other factor that may factor that may increase the demand for 

rice in the market  

22) The following diagrams shows various samples of soil aggregates 

P   Q  

R    S  

 

a) Identifythe type of soils structures       (2marks) 

b) Briefly explain how soil structures P can be improved     (1mark) 

c) Name two places where soil structure labeled S can be found   (2 marks) 

23) Study the following photographs and use them to answer the question that follows
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a) Identify the type of irrigation shown in the photograph   1 mark) 

b) State any two advantages of the above method of irrigation     (2 marks) 

c) Other than the one shown above identify any other two methods that a farmer can use to irrigate 

his crops (2 marks) 

24)    a)  A farmer has 30 hectares of arable land,20 hectares of which is planted withmaize and 

10hectares with grass hay. He wishes to replace 10 hectares of maize with Irish potatoes next year. 

The fertilizer rate will have to be increased from 2 bags per hectare for maize to 4 bags per hectare for 

potatoes. As a result of the change extra 40 men days of casual labour per hectare will be necessary at 

the rate of Kshs.100 per man a day. The average yield per hectare of maize is 35bags and for potatoes 

120bags.The price paid is Kshs.1, 000 per bag of maize and Kshs.600 per bag of potatoes. Maize 

seeds cost Kshs.750 per hectare and potatoes cost Kshs.800 per hectare. Fertilizer costs are Kshs. 650 

per hectare. 

i) Draw up a partial budget and advice the farmer accordingly.   (9 marks)  

ii ) Name the other type of budget that can be prepared by a farm manager  (1 mark) 

b) Discuss the various problems associated with land fragmentation   (6 marks) 

c) Explain four  environmental factors that affect the effectives of herbicides  (4 marks) 

25. a) Discuss the various cultural practices carried by farmers to control pests  (10marks) 

b)   Discuss the production of dry beans under the following headings 

(i) Varieties         (2 marks) 

(ii)  Section of planting materials       (3 marks) 

(iii) Postharvest practices of dry beans      (5 marks) 

26  a) Describe harvesting of pyrethrum under the following subheading 

i) Method and procedure       (3 marks) 

ii)    Precautions         (3 marks) 

b) Statefive characteristics of nitrogenous fertilizers    (4marks) 

c) Explain fivefactors to consider when designing a crop rotation programme  (10 marks) 
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27. Name two field management that are carried out to obtain optimum plant population in 

a crop field           (1mk)  

28. Give two factors which characterize small scale farming     (1mk)  

29. Give one examples of each of the following categories of water pipes 

a) Metal pipes           (½mk)  

b) Horse pipes           (½mk)  

30. Name three forms of horticulture practiced in Kenya     (1½mk)  

31. State four disadvantages of growing one type of crop on piece of land 

continuously(2mks) 

32. Outline four qualities of a mother plant from which vegetative propagation material 

should be obtained          (2mks) 

33. State two ways in which crop rotation controls weeds     (1mk)  

34. Give two reasons for imposing quarantine on imported planting materials  (1mk)  

35. State two mechanical methods of separating soil particles according to sizes during soil 

analysis           (1mk)  

36. Name four settlement schemes that the Kenyan government started as a result of the 

success of the million Acre scheme       (2mks) 

37. State three practices which encourage soil erosion     (1½mks)  

38. State four characteristics of a good vegetable seedling     (2mks) 

39. List four pose-harvest practices that are carried out in maize production  (2mks) 

40. List four environmental factors that affect crop production in Kenya   (2mks) 

41. Give four reasons for seed selection in crop production     (2mks) 

42. Give two benefits of top-dressing in management of grass pasture   (1mk)  

43. State four disadvantages of communal land tenure system    (2mks) 

44. State any two benefits a farmer would get by having correct plant population in the 

production of annual crops         (1mk)  

45. Define the term opportunity cost as used in economic     (1mk)  

46. State four pieces of information contained on a land title deed.    (2mks) 
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47. The table below shows PH value of different soil samples. Study it and answer the 

questions that follow. 

 

Soil sample   PH value  

S1    3 

S2    4 

S3    5 

S4    6 

S5    7 

S6    8 

S7    9 

S8    10 

a) Which soil sample has the highest acidity       (1mk)  

b) Which soil sample has the lowest alkalinity      (1mk)  

c) State two ways in which the PHvalue of sample 3 can be raised   (2mks) 

d) Which of the above soil sample is suitable for growing maize    (1mk)  

48. The diagram below illustrates a seed potato prepared for planting. Study it carefully and 

answer the questions that follow. 

 

 

 

 

 

 

 

 

a) Name the practice used in preparing the seed potato above for planting  (1mk)  

b) Describe the procedure followed in preparing seed potatoes for planting.  (8mks) 

49. Below are diagrams of common weeds found in a crop field, study them carefully and 

answer questions that follow. 
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a) Identify the weeds          (3mks) 

���‡�‡�†�������å�å�å�å�å�å�å�å�å�å�å�å�å�å�å�å�å�å�ä 

���‡�‡�†�������å�å�å�å�å�å�å�å�å�å�å�å�å�å�å�å�å�å�ä 

���‡�‡�†�������å�å�å�å�å�å�å�å�å�å�å�å�å�å�å�å�å�å�ä 

b) State one reason why weed A is difficult to control     (1mk)  

c) State one economic use of weed B        (1mk)  

50. Below is a method used in pasture management. Study it carefully and answer 

questions that follow. 

 

 

 

 

 

 

 

a) Identify the type of grazing shown above       (1mk)  

b) State two limiting of the practice above       (2mks) 

51. Below is a diagram of common pest found in the field. Study it carefully and answer 

questions that follows 
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a) Identify the pest          (1mk)  

b) State the stage at which the pest attack maize      (1mk)  

c) State one effect of the pest on crop production      (1mk)  

52. a) Explain five ways in which biotic factors influence crop production in Agriculture 

(10mks) 

b) Explain four ways in which Government policy improves agricultural production (4mks) 

c) Describes the properties of Nitrogenous fertilizer      (6mks) 

53. a) Describe the effects of pests on Beans in the field     

 (4mks) 

b) Describe the production of cabbage under the following seed headings.  

i. Seed bed preparation         (3mks) 

ii. Transplanting of seedlings        (4mks) 

c) Describe various nursery management practices carried out on cabbage seeding in the 

nursery            (5mks) 

d) Describe how water is treated to remove solid impurities     (4mks) 

54. a) Describe five ways in which a grass cover help to conserve soil    

(5mks 

b) Describe maize production under following sub-headings. 

i. Land preparation         (3mks) 

ii. Planting           (6mks) 

iii.  Field management practices        (6mks) 
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55. . a) State four characteristics of extensive farming system.      (2mks) 
b) List two disadvantages of small scale farming.       (2mks) 

56.  Name two ways in which predators affect agricultural production.     (1mk) 
57. List down four factors that influence formation of soil.      (2mks) 
58. State two farming practices that bring about minimum tillage.     (1mk) 
59. Name the function of each of the following chemicals in water treatment. 

a) Alum                                                      (1mk) 
b) Soda ash                                               (1mk) 

60.  State two importance of organic matter in the soil.        (1mk) 
61.  State three reasons why green manure is not commonly used in the farms.    (1 ½ mks) 
62.  Name four significance of using seeds as planting materials.     (2mks) 
63.  List two importance of tissue culture in propagating crops.      (1mk) 
64.  State the difference between the following terms.        (2mks) 

a) Rogueing 
b) Gapping 

65. State four effects of applying too much nitrogenous fertilizer to crops.    (2mks) 
66. Name four disadvantages of communal land tenure system.      (2mkS) 
67.  State four precautions farmers should observe when using agro-chemical for their safety and for 

environmental safety.            (2mks) 
68.  State three harmful effects of pests on crops.       (1 ½ mks) 
69.  State three qualities of a good manager in a farm setting.      (1 ½ mks) 
70.  State two factors that influence the demand of a commodity.     (1mk) 
71.  Study the diagram below and answer the questions that follow 

            
 

a) Identify the three harvesting methods shown in the diagrams above.    (2mks) 
b) Name four sites for agroforestry trees in the farm.      (2mks) 

72.  �7�K�H���G�R�F�X�P�H�Q�W���E�H�O�R�Z���Z�D�V���R�E�W�D�L�Q�H�G���I�U�R�P���R�Q�H���R�I���W�K�H���E�R�R�N�V���R�I���D�F�F�R�X�Q�W�V���L�Q���N�L�P�N�R�¶�V���I�D�U�P�����6�W�X�G�\���W�K�H��
document and answer the questions that follow. 

 
 
 
 
 

A B 
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DAIRY CATTLE  
DR CR 
Date Particulars  Folio Amount  

Sh    cts. 
Date 
2003 

Particulars  Folio Amount  
Sh    cts. 

Feb 20th 
 
 
Feb 30th 

Bought 2 
bags of 
dairy meal 

1 18,000.00 Feb 10th Sold 2 
heifers 

1 12,000.00 

 
a) Identify the book from which the above document was obtained.    (1mk) 
b) State four importance of keeping proper farm account records.     (2mks) 

73. The diagram below shows pests that affect crops when in the field. Study the diagrams and answer 
the questions that follow. 

    
a) Identify the pest J, K and L.         (3mks) 
b) State two ways of controlling the pest labeled L above.      (2mks) 
c) State one crop attacked by the pest labeled J and K above.     (2mks) 

74. The Following weeds were found growing on a maize farm by a form four student. Study the weeds 
and answer the questions that follow. 

 

L 
J K 
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a) Name the weeds labeled X, Y and Z above.       (3mks) 

b) State one reason that makes each of the following weeds difficult to control.   (2mks) 
     (i) X 

         (ii)   Z 
c) State one reason why the weed labeled M should not be allowed to grow in the farm. (1mk) 

 
75. a) Explain five cultural methods a farmer can use to control weeds.    (10mks) 

b) State and explain five factors considered when establishing nursery bed site.   (10mks) 
 
 
76. a) Describe five ways in which a farmer may adjust to uncertainty and risks in the farm.  (10mks) 

b) Explain five physical methods used to control crop pests in a crop land.    (10mks) 
 
 
77. a) State five types of information contained in a tittle deed.      (5mks) 

b) State five methods used to control soil and water pollution.     (5mks) 
c) State and explain five ways an entrepreneur can use to improve labour productivity in a farm.  

(10mks) 
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104. State four  ways by which plant nutrients may be lost from the soil.    (2mks)  

105. State two characteristics of a good root stock for grafting      (1mk)  

106. Give three ways in which land consolidation help to promote sound farm management. (1½mks)  

107. State two methods of controlling stalk borer.       (1mk) 

108. Mention two forms in which nitrogen is taken by plants.      (1mk)  

109.  State four  factors that should be considered when designing crop rotation programme.  (2mks)  

110. State four  advantages of drip irrigation        (2mks)  

111. Give three reasons for forage conservation.        (1½mks)  

112. Mention four  aspects of rainfall that influence agriculture.      (2mks)  

113. Name two field practices carried out to obtain optimum plant population in a crop field.  (1mk)  

114. List four  suitable sites for planting agro forestry trees      (2mks)  

115 State four  factors to consider when deciding type of irrigation to use in the farm.   (2mks)  

116. List four  benefits of packaging agricultural commodity      (2mks)  

117. Outline four  information contained in an invoice       (2mks)  

118. State four  ways of increasing soil fertility        (2mks)  

119. Give four  reasons for proper drying of grains before storage.     (2mks)  

120. Name a chemical used to achieve the following drying water treatment   (3mks)  

  a) Coagulation of solid particles  

  b) Softening of water  

  c) Killing of pathogens. 

121. The diagram below represents a method of crop propagation.  

  

 

 

 

 

 

 

a) Identify the method          (1mk)  

b) State two uses of the adhesive tape in the practice.      (2mks)  

 c) Identify part labeled X          (1mk)  

X 
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d) State four  characteristics of part labeled X.      (2mks)  

122. The diagram below represents a ground surface after a tertiary operation.    

 

 

 

 

 

  

 

 

 a) Identify the tertiary operation.         (1mk)  

 b) Give two types of crops that can be established on the structure above.    (2mks)  

 c) State three advantages of using above structure for growth of crops.    (3mks)  

123. The diagram below illustrates a field management practice. Study it carefully and answer  

the questions that follow: 

 

 

 

 

 

 

 

 

 a) i) Identify the field practice        (1mk)  

 ii) Name one type of crop trained using the above method.    (1mk)  

  iii) Give two reasons for carrying out the practice.      (2mks)  

124. a) A farmer is to apply compound fertilizer 20:30:10 on a plot measuring 5m x 4m at the rate of 

 200kg per hectare. Calculate the amount of fertilizer the farmer would require for the plot. (2mks)  
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 b) What do the figures 30, and 10 in the fertilizer stand for      (2mks)  

125. a) Discuss the principle of cooperatives (10mks)  

b) A farmer is considering to undertake production of either cotton or beans. Study the following 

information about the two crops then answer the questions that follow.  

 Cotton  

Yield per hectare    2500kg 

Price      Ksh. 10/= per kg  

Labour requirement per hacter 100 man day  

Cost of labour     25/= per man days  

Cost of seeds     100/= per hectare  

Cost of SSP fertilizer    2000/= per hectare  

Cost of spraying    500/= per hectare  

Cost of S.A fertilizer    1500/= per hectare 

   Beans  

 Yield per ha    2000kg  

 Price      12/= per kg  

 Labour requirement per ha.   15man days  

 Cost of labour     25/= per man day  

 Cost of seeds    1000/= per ha. 

 Cost of SSP fertilizer    1500 per ha. 

 Cost of sprays    200/= per ha.  

a) Calculate gross margin for each crop. From your calculations, identify the crop the farmer should 

grow.            (10mks)  

126. a) Describe establishment and management of a pasture crop stand upto grazing time.  (10mks)  

 b) Discuss harmful effects of weeds on crops.       (8mks)  

 c) Classify Herbicides according to formulation.       (2mks) 

127. a) Explain cultural method used in controlling crop diseases.     (10mks)  

 b) Describe the production of dry beans under the following sub-headings.  

   i) Weed control         (3mks)  

   ii) Harvesting          (3mks)  

   iii) Marketing          (4mks)  
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128. Give the advantages of keeping beef cattle in ranches as opposed to nomadic pastoralism.  (2mks)  

129. State four  characteristics of shifting cultivation.      (2mks) 

130. List four  types of records that may be kept in tomato production.    (2mks)  

131. Give the importance of agricultural economies.      (1mk)  

132. State any four  effects of rainfall on agriculture.      (2mks)  

133. a)Give three reasons why it is difficult to control Sodom apple weed in a crop field. (1½mks) 

 b) State the advantages of mechanical weed control through tillage.   (1½mks)  

134. Give the reasons for practicing minimum tillage in seedbed preparation.   (2mks)  

135. Differentiate between a seedbed and a seedling bed as used in crop production.  (1mk)  

136. Give reason why rolling is carried out in crop production.     (1mk)  

137. State four  reasons why drainage of land is necessary in crop production.   (2mks)  

138. Give the functions of each of the following in the preparation of compost manure. 

 i) Wood ash           ( ½ mk)  

 ii ) Topsoil           ( ½ mk)  

(iii) The stick driven into the compost head.        ( ½ mk) 

(iv)Well rotten manure         ( ½ mk) 

139. Why are leguminous plants preferred for green manure?     (1mk)  

140. Suppose the farmer has to apply 30kg P2O5 per hectare and has the following at his disposal 

21:15:60 

 i) What do the numbers 21 and 60 stand for?       (2mks)  

 ii ) Calculate the amount of P2O5 he will require for 2hectares.    (2mks)  

141. State four  things that would happen to the element nitrogen when ammonium sulphate fertilizer is 

applied to the field of maize.         (2mks)  

142. The table below shows crops and the vegetative propagation materials. Complete the table with the 

 correct crop or vegetative materials.         (3mks)  

Crop  Vegetative propagation material 
Pyrethrum   
Pineapple   
Sugarcane   
 Stem tuber  
 Suckers 
 Root tubers 
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143. Give a reason why the width of a vegetable nursery would be 1meter.   (1mk)  

 b) State the factors considered in siting a nursery.      (2mks)  

144. Define the term tipping as used in the production in the field.    (1mk)  

145. Name two types of pruning in coffee.       (1mk) 

146. What is the effect of removing the terminal bud in tomatoes?    (1mk)  

147. Give a reason for hardening off vegetable seedlings 2-3 weeks before transplanting. (1mk)  

148. Describe the factors that affect the ensiling process.      (3mks)  

149. State four  advantages of rotational grazing as a grazing system.    (2mks) 

150. The illustration below shows a newly constructed cut-off drain. Study it and answer the questions 

that follow.  

 

 

 

 

 

 

 

 a)i)How can part of the structure labeled B be established after it has been constructed? (½mk)  

      ii ) Identify the part of the cut-off drain labeled A.     (½mk)  

 b) Describe the procedure of constructing a cut-off drain.     (2mks)  

151. The diagram below shows a house water storage tank. Study it and answer the questions that follow.  

 

 

 

 

 

 

 

 

 

a) Identify the parts of the tank labeled  

Roof  

H 

J 

K 

L  

Direction of water flow 

Arable land  

Direction of slope   
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H�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«����    (1mk)  

K �«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«    (1mk)  

 b) Give the function of the part labeled J      (1mk)  

152. The illustration below shows a four year crop rotation programme. Study it and answer the questions 

that follow. 

 

 

 

 

 

            

 
 
 
 
 
 
 
 
 a) Explain why it is appropriate to plant peas in year 2 after maize.   (4mks)  
 b) Why would Rhodes grass be included in the rotation at year four?   (1mk)  

153. Diagrams G and H show weeds.        (1mk)  

 

 

 

 

 

 

 a) Identify the weeds 

 G�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«��  

 H�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«����  

 b) i)Describe the economic importance of the weed shown in G.    (3mks)  

    ii ) Classify the weed labeled H according to growth cycle.    (1mk)  

1st Year  
Plot A  
Maize 

2nd year  
Plot B 
Peas 

4th year  
Plot D 
Rhodes 
grass 

3rd year  
Plot C 
Irish 
potatoes 
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154. A farmer has a piece of land on which he grows maize. His farm record on maize production for nine 
years is shown below. 
YEAR  FERTILIZER APPLIED 

50KG BAGS  
TOTAL OUTPUT OF 
MAIZE (90KG BAGS)  

2003 0 4 
2004 2 10 
2005 4 28 
2006 6 42 
2007 8 52 
2008 10 60 
2009 12 66 
2010 14 66 
2011 16 64 

 
 a) Calculate �W�K�H���I�D�U�P�H�U�¶�V���P�D�U�J�L�Q�D�O���S�U�R�G�X�F�W���I�R�U���W�K�H���\�H�D�U��2005.    (1mk)  

b) i)From the data given, what rate of fertilizer application would the farmer choose if he  wanted to 
grow maize in 2012?         (1mk)  

 ii ) Give an explanation for your choice in b (i) above.     (1mk)  
 c) Calculate the average product for the year 2007.      (1mk)  

155. a) Explain five human factors influencing agriculture.     (10mks) 

 b) Describe the methods used to prepare planting materials before they are planed.  (4mks)  

 c) Describe the use of any three materials used in building/grafting.    (6mks)  

156. a) Describe the importance of vegetable crop.      (6mks) 

 b) Explain the cultural methods of pest control.      (7mks)  

 c) Describe the physical methods of erosion control.      (7mks)  

157. a)i)Describe water control in a ice field.       (7mks) 

   ii) Explain the precautions that should be observed during the harvesting of coffee. (2mks)  

 c) Describe the vegetation effects of land fragmentation      (5mks)  

 d) Explain the basic concepts of economies.       (6mks)  
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158. Name two bloodless methods of castration in lambs.                                                   (1 mark 

159.  Name four  dairy breeds of goats.                                                                                            (2 marks) 

160.     Give the appropriate term that refers to each of the following: 

 

 (a) Castrated chicken                                   (½ mark) 

            (b) Young one of a rabbit                                   (½ mark) 

161.   Distinguish between the following terms as used in livestock health: 

 (a) Isolation and quarantine                        (1 marks) 

(b) Curative drug and prophylactic drug                       (1 marks) 

162. Give four  pre-disposing factors of livestock diseases.                                                                                                

(2marks) 

163. Name two practices that are carried out when preparing ewes for mating.             

(1mark)  

164.  State three factors that would determine the amount of concentrate fed to dairy cattle.    

                                                                                                                                          (1 ½ mks)   

165. Give three reasons for hoof trimming in livestock.                   (1 ½ marks)  

166.  Name two plumbing tools.                                                                                              (1mk) 

167. State three advantages of embryo transplant in dairy cattle.                                    (1 ½mks) 

168. Name the breed of sheep which has lambing percentage of 125 �± 140                        ( ½ mk) 

169. Outline three control measures of roundworms.                                                        (1½ mks) 

170.   Give three reasons for feeding bees                                                                       (1½marks) 

171. Give two reasons why identification of farm animals is important                           (1marks) 

172. Name two dual purpose sheep breeds.                                                                         (1 mark) 

173. Outline four  types of fence that can be used in mixed farm                                      (2marks)  

174. Name three methods of out breeding in livestock production                                (1 ½marks) 

175. (a) Give four  methods of administering vaccines in poultry.                                     (2marks)  

        (b)  State three characteristics of an effective acaricide                                           (1 ½  mks) 

176. Give four  reasons for treating timber used in construction of farm store.         (2 marks)    
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177. State two factors that influence the daily water intake in a dairy cow.          (1 marks) 

178. The diagrams below represent some farm tools and equipment .Study them and answer the 
questions that follow. 
              

 

[a]Identify the tools labeled A and B  
 
[b]State one use of each of the tools labeled C and D  
 
[c] Explain one maintenance practice carried out on tool D. 
 [1mk.] 
179. (a) The diagrams labeled A and B illustrate teeth arrangement of a hand workshop saw. 

Study it and answer questions that follow. 

A 

B                         
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(a) Name the type of saw represented by the teeth arrangement A and B.                  (1mk) 

(ii)  Give the functional difference between tools A and B represented above.      (2mk) 

(b) Give two maintenance practices for the tools represented by the teeth illustrated 

above.                                                                                                                    (2mks)  

180. (a)  Below is an illustration of an activity carried out in poultry management. Study it and 

answer questions that follow. 

                                                 

(i) Identify the practice illustrated above.                                                         (1mk) 

(ii)  Give two reasons for carrying out the practice illustrated above.               (2mks) 

b) The diagram below illustrates an internal parasite of livestock.                        
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i. ) Identify the parasite above. [1mk] 
 

ii.  ) Name two common species of the parasite illustrated above. [2mks.] 
 

iii.  ) Give two control measures of the above parasite. [2mks.] 
181. (a) (i) Describe six signs of farrowing in a sow.  

                                                                                                                                                (6mks) 

(ii) Explain four  benefits of the Kenya Top Bar Hive.                                                         (4mks) 

(b) Explain five reasons for swarming in bees.                                                                                                                                                                      

(5mks) 

(c) Explain five factors considered when siting farm structures                                                    

(5mks) 

182. (a) Describe  ten signs of ill- health in livestock                                                                                                                  

(10mks) 

(b) Discuss five factors considered when culling livestock.             

(10mks) 

183. (a) Explain five reasons for keeping livestock healthy.                                      (5mks) 

(b) Describe five signs of internal parasite infestation in livestock.   (5mks)  

(c) State five major differences in the digestion of food between ruminants and non- ruminants.   

(10mks) 
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184. Name four  processes of biological weathering.              (2mks) 

185. Name four  types of records a maize farmer should keep             (2mks) 

186. (a) What is mixed farming ?                    (1mk) 

(b)Give three disadvantages of mixed farming to a small scale farming.                (1½mks) 

187. State three ways in which trees improve soil productivity.                (1½mks) 

188. List four  minimum tillage farming practices                          (2mks) 

189. Give two routine maintenance practices on water storage tanks.             (1mk) 

190. List four  examples of joint products in livestock production            (2mks) 

191. State four  examples of variable inputs in sorghum.              (2mks) 

192.  State four effects of pests with both piercing and sucking mouth parts on crops.          (2mks) 

193. State two ways of breaking seed dormancy during the preparation of planting materials.         (1mk) 

194.  State three importance of tissue culture in crop production              (1½mks) 

195. List four  financial documents that should be kept on a farm            (2mks) 

196. State four  advantages of applying lime as a measure of improving soil condition          (2mks) 

197. State four  effects of mass wasting                (2mks) 

198. Define the following terms as used in crop production.            (3mks) 

(a) Capping 

(b) De �± suckering 

(c) Changing the cycle 

199. List three sources of organic matter in the soil                  (1½mks) 

200. (a) The diagram below shows a method of forage preservation 

 

 

 

 

 

 

 

 

 

(i)Identify the structure illustrated above                (1mk) 

Ground 

Soil Layer 

Drainage  
Forage material 

Polythene sheet 
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 (ii)  State the form in which the forage is preserved as illustrated above.            (1mk) 

 

 (iii) Give the role of each of the following in the structure above            (2mks) 

i. Polythene sheet: �«�«�« �«�«�«�«�� �«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«  

 �L�L�������������������'�U�D�L�Q�D�J�H���«�«�«�«�«�«���� �«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«��  

(b) Name one other method of forage preservation.              (1mk)                

201. The following table gives the weekly demand and supply schedules of potatoes. 

Price per  kg (shs) Demand in millions of kgs  Supply in millions pf kgs 

10 23 59 

9 30 57 

8 36 54 

7 41 50 

6 45 45 

5 48 39 

4 50 32 

3 51 25 

 

Use the table to answer the following questions 

(a) What is the equilibrium price?                   (1mk) 

(b) State the effects of a government imposing a maximum price of: 

(i) Ksh 5 per kg:                    (1mk) 

(ii)  Ksh. 7 per kg:                  (1mk) 

(c) If the government guaranteed a potato supply at price of Ksh . 7 per kg , what quantity would it 

have to purchase to maintain this price?                (1mk) 

d)  If alternatively the government bought all the potatoes on offer at Ksh. 7 kg , what  price would   

      it have to change the consumers to dispose of this quantity?                  (1mk) 

202. (a) The diagram below illustrates a field management practice carried out on a fruit crop. 
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 (i)Identify the practice illustrated above.                 (1mk) 

(ii) Give two reasons for carrying out the practice illustrated in the above diagram.     (2mks) 

(b) Give a reason why it is not advisable to use manure in carrot production.            (1mk) 

203. (a) What is land fragmentation ?                   (1mk) 

(b) State three causes of land fragmentation                         (3mks) 

(c)State two objectives of settlement and resettlement.            (2mks) 

204. (a) State and explain any five cultural methods of controlling weeds                  (10mks) 

 (b) Explain the harmful effects of pests on crops                     (10mks) 

205.  (a)Describe field production of dry beans under the following sub headings: 

(i) Land preparation:                           (4mks) 

(ii)  Planting                (6mks) 

 (b) Explain five ways by which a farmer can adjust to risks and uncertainty.               (10mks) 

206.  (a)Describe ten safety precautions that should be taken when using herbicides to control weeds. 

                                                                                                                                (10mks) 

 (b)Explain ten farming practices which help to conserve soil on a farm                   (10mks) 
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207. State four  ways by which plant nutrients may be lost from the soil.    (2mks)  

208. State two characteristics of a good root stock for grafting      (1mk)  

209. Give three ways in which land consolidation help to promote sound farm management. (1½mks)  

210. State two methods of controlling stalk borer.       (1mk) 

211. Mention two forms in which nitrogen is taken by plants.      (1mk)  

212.  State four  factors that should be considered when designing crop rotation programme.  (2mks)  

213. State four  advantages of drip irrigation        (2mks)  

214. Give three reasons for forage conservation.        (1½mks)  

215. Name two field practices carried out to obtain optimum plant population in a crop field.  (1mk)  

216. List four  suitable sites for planting agro forestry trees      (2mks)  

217 State four  factors to consider when deciding type of irrigation to use in the farm.   (2mks)  

218. List four  benefits of packaging agricultural commodity      (2mks)  

219. Outline four  information contained in an invoice       (2mks)  

220. State four  ways of increasing soil fertility        (2mks)  

221. Give four  reasons for proper drying of grains before storage.     (2mks)  

222. Name a chemical used to achieve the following drying water treatment   (3mks)  

  a) Coagulation of solid particles  

  b) Softening of water  

  c) Killing of pathogens. 

223. The diagram below represents a method of crop propagation.  

  

 

 

 

 

 

 

a) Identify the method          (1mk)  

b) State two uses of the adhesive tape in the practice.      (2mks)  

 c) Identify part labeled X          (1mk)  

d) State four  characteristics of part labeled X.      (2mks)  

X 
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224. The diagram below represents a ground surface after a tertiary operation.    

 

 

 

 

 

  

 

 

 a) Identify the tertiary operation.         (1mk)  

 b) Give two types of crops that can be established on the structure above.    (2mks)  

 c) State three advantages of using above structure for growth of crops.    (3mks)  

225. The diagram below illustrates a field management practice. Study it carefully and answer  

the questions that follow: 

 

 

 

 

 

 

 

 

 a) i) Identify the field practice        (1mk)  

 ii) Name one type of crop trained using the above method.    (1mk)  

  iii) Give two reasons for carrying out the practice.      (2mks)  

226. a) A farmer is to apply compound fertilizer 20:30:10 on a plot measuring 5m x 4m at the rate of 

 200kg per hectare. Calculate the amount of fertilizer the farmer would require for the plot. (2mks)  

 b) What do the figures 30, and 10 in the fertilizer stand for      (2mks)  

227. a) Discuss the principle of cooperatives (10mks)  

b) A farmer is considering to undertake production of either cotton or beans. Study the following 

information about the two crops then answer the questions that follow.  
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 Cotton  

Yield per hectare    2500kg 

Price      Ksh. 10/= per kg  

Labour requirement per hectare 100 man day  

Cost of labour     25/= per man days  

Cost of seeds     100/= per hectare  

Cost of SSP fertilizer    2000/= per hectare  

Cost of spraying    500/= per hectare  

Cost of S.A fertilizer    1500/= per hectare 

   Beans  

 Yield per ha    2000kg  

 Price      12/= per kg  

 Labour requirement per ha.   15man days  

 Cost of labour     25/= per man day  

 Cost of seeds    1000/= per ha. 

 Cost of SSP fertilizer    1500 per ha. 

 Cost of sprays    200/= per ha.  

a) Calculate gross margin for each crop. From your calculations, identify the crop the farmer should 

grow.            (10mks)  

228. a) Describe establishment and management of a pasture crop stand upto grazing time.  (10mks)  

 b) Discuss harmful effects of weeds on crops.       (8mks)  

 c) Classify Herbicides according to formulation.       (2mks) 

229. a) Explain cultural method used in controlling crop diseases.     (10mks)  

 b) Describe the production of dry beans under the following sub-headings.  

   i) Weed control         (3mks)  

   ii) Harvesting          (3mks)  

   iii) Marketing          (4mks)  
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230. State the use of each of the following tools in bee production.  

    (a) Swarm �Q�H�W���«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«             (½mk)                                                                                                                               

   (b) Catcher box �«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«             (½mk)                                                                                                                                 

231. List two dairy goats.                                                                                                                       (1mk) 

232. a) State one chemical used in relieving a ruminant animal of bloat                                            ( ½ mk) 

(b) State two reasons why drenching alone is not an effective method of controlling internal parasite 

in livestock.                                                                                                                                    (1mk) 

233. (a) State the class of each of the following feedstuff 

      (i) Molasses�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«           (½mk)                                                                                                                                       

      (ii) Mac Lick�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«�«           (½mk)                                                                                                                                      

     (b) Name the type of breeding system represented below.  

     Ayrshire sire x Boran Dam    F1 heifer x Hereford.                                                        (½mk) 

234.  Give three importance of flushing in sheep management.                                                        (1½mks) 

235.  (a) Name the causative organism of Gumboro disease.                                                              (½mk) 

     (b) State two symptoms of coccidiosis infection in poultry.                                                          (1mk) 

236.  State two differences between the dromedary and Bactrian breed of camels.                            (2mks) 

Dromedary Bactrian 

(i) 

 

(ii)  

 

(i) 

 

(ii)  

237. State one way by which each of the following practices help in disease control.                       (2mks) 

(a) Proper feeding. 

(b) Proper housing  

238.  (a) State three effects of tsetse fly infestation.                                                                         (1½mks) 

     (b) State two ways of controlling tse tse flies.                                                                              (1mk) 

   (c) Give one reason why tse tse fly control is considered as land reclamation method.            (½mks) 

239.  State two ways in which a production ration may be utilized by cattle.                                        (1mk)   

240. Name two diseases in cattle that may be spread through breeding.                                               (1mk)  

241.  (a) Under what conditions would a farmer  prefer to use an ox �± cart instead of a tractor �± drawn 

trailer. Give three reasons.                                                                                                          (1½mk) 

(b) Name three implements that may be connected to power take off shaft of a tractor.            (1½mks) 
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242.  Name a pig breed with white colour on feet, nose and tail.                                                       (½mk) 

243.  State three importance of keeping livestock healthy.                                                                (1½mks) 

244.  Name three importance of lubricating system in tractor.                                                          (1½mks) 

245.  (a) Name three mechanical methods of controlling ticks.                                                       (1½mks) 

(b) Name the intermediate host of liver fluke.                                                                              (½mk) 

246.  Name three methods of livestock selection.                                                                           (1½mks) 

247  (a) Distinguish between crutching and ringing as used in livestock production.                           (1mk) 

       (b) Give a reason for packing eggs with the broadside upwards in the egg tray.                          (½mk) 

248.  (a) State two conditions, which would make it necessary to feed bees.                                         (1mk) 

       (b) Name two faults of ignition system of a tractor.                                                                      (1mk) 

249.  Below is a layout of an animal housing. Study it and answer the questions that follow 

 

 

 

 

 

 

 

 

       (i) Identify the structure.                                                                                                                (1mk) 

        (ii) Name the parts labeled 2, 3, 4.                                                                                                (3mks) 

         (iii) What is the role of the parts labeled 3.                                                                                    (1mk) 

250.  Study the diagram of an egg below and answer the questions that follow. 

 

 

 

 

 

     (a) Name the parts labeled A, B, C and D.                                                                                   (4mks) 

     (b) State the roles of parts labeled A and D during incubation.                                                   (2mks) 
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